Weight and Apparent Weight


How do you find Newton’s? _______________

Show your work on the opposite page. 
	Mass (kg)
	Weight on celestial body

	
	Earth
	Sun
	Uranus
	Moon

	1. 50 kg

	
	
	
	

	2. 10 kg


	
	
	
	

	3. ?      kg
	
	
	
	122 N

	4. You:

	
	
	
	

	
	Venus
	Mars
	Neptune
	Saturn

	5. 67 kg


	
	
	
	

	6. 140 lb


	
	
	
	

	7. 200 lb


	
	
	
	

	8. ?   lb
	
	660 N
	
	


# 4 Work: Convert your mass in pounds to kg: 1kg = 2.2 lbs 

Apparent Weight: Show your work for each of the following:

Problems 9 & 10: Accelerating away from Earth at 17.5m/s/s

9. 56kg

10. 185 lbs.

Problems 11 & 12: Accelerating towards Earth at 6.8 m/s2
11. 785kg

12. 135 lbs. 

	Acceleration Due to Gravity Comparison 

	Body 
	Mass [kg] 
	Radius [m] 
	Acceleration Due 
to Gravity, "g" [m/s²] 
	g / g-Earth 

	Sun 
	1.99 x 1030 
	6.96 x 108 
	274.13 
	27.95 

	Mercury 
	3.18 x 1023 
	2.43 x 106 
	3.59 
	0.37 

	Venus 
	4.88 x 1024 
	6.06 x 106 
	8.87 
	0.90 

	Earth 
	5.98 x 1024 
	6.38 x 106 
	10 
	1.00 

	Moon 
	7.36 x 1022 
	1.74 x 106 
	1.62 
	0.17 

	Mars 
	6.42 x 1023 
	3.37 x 106 
	3.77 
	0.38 

	Jupiter 
	1.90 x 1027 
	6.99 x 107 
	25.95 
	2.65 

	Saturn 
	5.68 x 1026 
	5.85 x 107 
	11.08 
	1.13 

	Uranus 
	8.68 x 1025 
	2.33 x 107 
	10.67 
	1.09 

	Neptune 
	1.03 x 1026 
	2.21 x 107 
	14.07 
	1.43 

	Pluto 
	1.40 x 1022 
	1.50 x 106 
	0.42 
	0.04 


